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1AM B 758 BEH
(AT A, %)

X 57 S X B AE AR X Bl AE

i Bl A BR B oy 64,183 100.2 64,803 101.0

% P N S 64,096 100.2 64,696 100.9

B AR ISy 87 104.8 107 123.0

i Bl A BR B Sy 62,460 100.4 62,906 100.7

= N B E S 62,445 100.4 62,874 100.7

M AR ISy 15 75.0 32 213.3

5] Bl A BR B Sy 1,716 93.6 1,890 110.1

ERE N S 1,644 92.8 1,815 110.4

EN RGN RS 12 114.3 75 104.2
A | B A BR Bl

| B E ) 7 100.0 7 100.0

0 i Bl A BR B Sy 62,460 100.4 62,906 100.7

=} A N S 62,445 100.4 62,874 100.7

AR EBEEE Y 15 75.0 32 213.3

= 3t D & Al e AR AR
bR R 4 FE it X

845,848 6%

157,623m 1% \

INRIE(EE R
6,794,780m 44%

R EE
15,265,483

FEEERAM

—_— 'n. [=—] i
6,841,168 45% s =Rt

626,064m 4%
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2. T F& AR ZE IZRE I H5R

(BN : i)
X s SHFEJE AR
/N R AE £ O 6,761,607 6,794,780
— % = o# 629,902 626,064
JEEE 6,815,492 6,841,168
i # fb X i 2 173,179 157,623
AOPE Rk ML M X 855,055 845,848
& &t 15,235,235 15,265,483
k FERRFL L, SRR XA F0,
3. KRB (KRE&E-IERERNIZRH I S5
X 45 3 4E B 4 5 FE
ok P 36,179 36,451
K R [iE0] = () 3,672,832 3,706,476
R E itk % FH) 101,977,382 106,835,132
AL XY 7= 0 il B (F) 27,765 28,824
7 oR Yl k& (F9) — —
s AT 2 7= 0 il A%
o RS (%) - -
F £y 11,774 11,781
| K i i (nt) 6,262,849 6,265,100
R E itk % (+H) 305,543,426 308,094,516
K HL AN XY 7= 0 il &% () 48,787 49,176
o Bl kS (F) — -
15 BANT X 7= DA A%
e RS (%) - _
A £ 47,953 48,232
& R [iE0] = () 9,935,681 9,971,576
3 T GEE) 407,520,808 414,929,648
LT X4 7= 0 A *% () 41,016 41,611

AN WS S k=

&k [
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4. FEREOEBEEEEREREFOR CEMA FE1550D6E KR

3 B 4 - BE

X gas 8 £ | RmAE | BemBiER | B 2k | IR | Epia
(m) (1) (m) (1)

H155061E| 1,679 150,866 78,586| 1,608| 146,606 80,948
H15506525E| 1,694 120,949 84,646 1,601| 114,188 81,976
155D THE1IA 659| 68,549 35,531 700| 72,575 39,367
155D T2 22 2,293 1,132 15 1,434 769
H155D8F1HE 0 0 0 0 0 0
H155:D82E| 245 7,903 4,892 245 7,857 5,650
155 D91 3 312 24 3 222 38
155D 4TH 2 154 11 1 68 19
H155D9FE51HE 1 87 24 1 100 10
155 D9FoTH 1 95 7 0 0 0
H155DIFE 1018 0 0 0 0 0 0
TR 0 0 0 0 0 0
RTINS 0 0 0 0 0 0
Tﬁmsgﬂr%aﬁm% 0 0 0 0 0
& s 4,306 351,208 204,853| 4,174| 343,050| 208,777

(B Rh[H B & PERL I & B5373%)
REDIELENIZET S

s
— T & B | REmE | S0
X ) il @l @ Fml @ @)
B H £ = 32,849 3,267,326 96,623,696 29,573
HEEE 5 A 1,027 245,942 7,575,129 30,800
M B F = 780 78,772 1,123,113 14,258

T R EE A 0 0 0 .
ST 81T - T 357 39,816 980,473 24,625
B %5 - R OB 37 5,506 151,613 27,536
T % «- /A & 272 31,186 162,691 5,217
+ TR 93 2,374 5,528 2,329
Fft & % 1,036 35,554 212,889 5,988
= =t 36,451 3,706,476 106,835,132 28,824
G A RERT B2

oA

— T & B | REmE | Lo
< & il ol @ Fm @ @
AT - E)E 1,241 1,054,169 66,414,643 63,002
£ -« 78—} 7,531 3,047,116 188,620,996 53,176
S A N A 83 92,482 7,149,773 77,310
T %R E: 1% 1,634 1,287,229 30,665,282 23,823
- D fh, 1,292 284,104 15,243,822 53,656
= H 11,781 6,265,100 308,094,516 48,329

(&L R PERE RS %525~304)
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6. THAEE HEHSREICET HH

. R R | REE R | EACS0fE
* & A () )] @ FED @0 )
N & 603 65,636 5,302,114 80,781
I N 89 31,554 3,333,026 105,629
& g 692 97,190 8,635,140 88,848

(&L B E PEBEE S 5531~32%K)

1. BB EDEERH
(A T, %)

3 4 BE 4 £ E
X % WOE R | g | DR | e
g | T mpimwm | FH
99,382,664 96.7 30,764,421 | 104.7
|
98,846,220 96.9 30,277,288 | 105.0
o 61,876,480 98.3 61,721,595 |  99.7
| RO OV
E 60,462,018 98.4 60,235.591 |  99.6
2 9955 | 558.2 39246 143.9
I A&
e 9955 | 558.2 39246 | 143.9
% o 311,496 69.0 311,324 | 99.9
% it 22 pk
e 311,496 69.0 311,324 | 99.9
f - 492,721 84.6 659,567 | 133.9
HL ] S OV B,
Z 492,721 84.6 656,226 | 133.2
o| T A=A 17,295,062 |  100.5 17,499,304 | 101.2
K O i 17,276,694 | 100.9 17,449,968 | 101.0
.. 109,360,678 98.0| 110,959.457 | 101.5
" 107,391,404 98.2| 108,933,643 | 101.4
e AR 68,074,488 96.0 67,130,680 |  98.6
RELE S LIZHO 44,764,004 99.6 54,824,101 | 1225
R N 177,435,166 97.2| 178,090,137 | 100.4
B " 152,155,408 98.6 | 163,757,744 107.6

(&R EEEEBERE H705%)
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8. MIFKEERDICEI 5

(HEAT: M, %)

3 4 FE 4 HOE
X 5 Bl %A PREIEE=YES Bl %A Sk AR
B HA 185,927,000 106.2 182,327,000 98.1
Eek. gl 65,563,300 101.5 65,366,200 99.7
ERIEE 58,018,500 97.7 55,667,400 95.9
Z D i 16,574,200 98.0 17,322,800 104.5
it 22 1 300,633,000 95.9 446,861,600 148.6
& F# 626,716,000 99.6 767,545,000 122.5
0. fMZEHEIZ(RD BFHFKEE 72 3THELE
(HAZ:F,%)
3 4 4 O
A TR Bi % R Bl % &Rk
GNP 1] 313,420,500 67.0 446,861,600 67.0
B 109,594,200 23.4 155,774,700 23.4
wom o 45,040,800 9.6 64,260,300 9.6
& F#t 468,055,500 100 666,896,600 100

* KPR IEIERZ2HE )
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10. R EESFAAMEI MR HEICET R

(HEA7:H,%)

3 4 & 4 4K
X A OE R ARTEEE] B O B [RTRTAREE
23,438,900 97.4 1 22,899,300 97.7
IR 104,016,300 | 100.0 | 107,953,200 | 103.8
N HEFA] 56,871,200 | 100.0 | 58,573,200 | 103.0
& & 184,326,400 99.7 1 189,425,700 | 102.8

1. B & E R - &R vh &1 E #5 0D B 2 8GR

(BAAZ: )

% X &S 5 3 A 4 FEJE
RSN A e o S (991F) (10644)
i B 25 ) he 47 R HII 55 9 5% 9.939.800| 7.315.616
1 BRI L0 ATE DT8O INFADER (28142 (36142
Bz o 1,177,600 1,460,816
505 BERERHA B % FERRAL & 7~ 7= [ (49142 (46442
N e 3,609,200 1,407,400
o Mt FH A 2N A 28 D 7= b [EL 32 5 (1344) (1314
ERSIL <95 2,877,400 2,878,000
s ST REARNEIC LR ES 014) o1
%Htiﬂﬁ 0 0
P FEICTOPRIS TR EFEEZT 1) (414
== 28,400 60,500
3 6 FFEIZIOPRI TR FEEZ T o) o)
T P 0 0
p—_— N EFOMoOFEICEVTE (744) (714
RN BLLZRD D D 1,547,200| 1,508,900
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REOEH -KEROHRE

BRE (Fm) CORER e # -
10,000 49,000
&
9,800 — 48,000
*/—0—/
|

9,600 — ¢ — 47,000
9400 — — 46,000
9,200 — — 45,000
9,000 r— — 44,000
8,800 ' ' ' ' ' ' 43,000

285EF 29FFEE 30FEE RxEE 28HE 3FE 4FE

BREE REMEOHER
 BHRRES ORBAERS

(Bfz:+7AmM)
120,000

100,000

80,000

60,000 o

40,000 o

20,000 [

28F 29%E 30FE RnEE 285F FE 45FE
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